Assembly

Instructions

Resource



WARNING

READ CAREFULLY BEFORE BEGINNING INSTALLATION.
IMPROPER INSTALLATION OF THE PRODUCT MAY CAUSE SERIOUS INJURY

A Installation must be performed by a licensed contractor or a trained
professional, who will ensure proper assembly and installation.

A Installation must be performed by at least 2 people.

A Improper installation of this product can cause serious or fatal injury.

A Improper installation may result in permanent damage to the bed.

A All hardware must be properly tightened. No parts of the model should be
left loose or unstable.

Warranties for all products purchased from Resource Furniture, LLC are
only valid if the product has been properly assembled, Installed by a trained
professional, and operated in accordance with the assembly instructions.

Resource Furniture accepts no responsibility for any damage or injury caused
by Improper Installation.




MAIN INSTRUCTIONS

TRANSFORMING SYSTEM ASSEMBLY AND SAFETY

Carefully read before proceeding!

N

Follow with care all points of the assembly procedure, as per technical sheets and their sequence showed in the following pages, and all the
safety rules indicated.

The product is self-supporting and must be placed on a perfectly levelled floor.

Due to the joint movement of the inter functional components, the freestanding models could present some extremely slight vibration or very
small shift that, in case, can be avoided through fixation of the product to wall or to suface.

Installer is responsible for workmanlike assembly and test of the product.
Installation must be completed by professional and skilled workers.

When the transforming system is combined in a composition with cabinets, wardrobes, storage units or bookcases, these elements must be
anchored to wall by an independent fastening respect to the one of the transforming system.

An incorrect installation may cause incidents and injuries to the final user.

Clei is not responsible for any possible alterations, tempering and changes on the transforming system by third parties.

Clei refuses any kind of responsibility for improper use of this transforming system like incorrect handling, as well as for any kind of
incompetence and negligence by installer and final user.

CLEI REFUSES ANY KIND OF RESPONSIBILITY FOR ASSEMBLIES NON-COMPLIANT TO THE INSTRUCTIONS AND PROCEDURES DESCRIBED IN
THE PRESENT ASSEMBLY MANUAL.



Ito OVERVIEW

> >
TR )

86 3"
220cm
68 3"

33 % 173cm
86cm

Z

68 4"
174cm

SWING MATTRESS SPECIFICATIONS

Recommended weight: ~ 64 Ibs
Recommended dimensions: 79 1/2 x 60 x 7"



Ito OVERVIEW

65/21/2"
—
230/9"
2200
86 5/8"
860/337/8"
600/235/8"
240
- 9 3%
L
1210/47 5/8"

1390/54 3/4"
550/
215/8"
400/
15 3/4"
| &
1740 / 68 1/2"

350/13 3/4"

——

1850/ 727/8"
] | 803 ve"
F ‘ 675/26 5/8"
‘ ’ 415/ 16 3/8"
2200/ 86 5/8"



Pieter Depreeuw
Inserted Text
 / 


Ito OVERVIEW




Ito COMPONENTS

HARDWARE

v

4X40
X4
‘ X2
TBCE M6X35

X2

‘A TPSE M6X35
o
/D 3,5X20
&
X7
\_
G 4,5X25
&
X4
\_
L
; X2
\_
A A

> @
AN

2 PEOPLE REQUIRED

4

TOOLS

C I
N
-4 X 13
\ J
F | TBCE M4x18 N
X 6
\ J
"1 | TCCE M6X30 N
M
5
<
‘o
\ )
a4 I
\ )




STRUCTURE ASSEMBLY
™




STRUCTURE ASSEMBLY




STRUCTURE ASSEMBLY

B4

ck

13




STRUCTURE ASSEMBLY




OPTIONAL WAND LIGHTING

9 Drill 1/2” hole at 21 3/8” below upperbed structure panel (from inside) and 11/2” in from
the side. Install mounting plate with provided wood screws, aligning the 1/2" drill holes.

L ‘ T L

Wand Light Exploded Diagram o R
Cord Length = 118"

85 4" to drillhole
bottom of from insid
receptacle

cover plate

30" Headboard




LEVELING THE STRUCTURE

Ensure that the structure is level and plumb. To compensate for any floor unevenness,
use the adjustable feet on the bottom panel (det. 14a) to level the structure.

7

10



BED FRAME ASSEMBLY




BED FRAME ASSEMBLY




BED FRAME ASSEMBLY

13



SHELF ASSEMBLY

14

19







MATTRESS & HEADBOARD INSTALLATION

To balance the bedframe, adjust the spring
tension controllers with the 8mm allen

wrench provided. Turn clockwise to adjust the
tension in order to close the bed with

ease. Ensuring that each side of the bedframe is

adjusted equally.

Note: An excessive number of turns may
damage the cable.

14






ION
LLAT
INSTA

SOFA

21

e}

x2

ey

\

ﬂ gy

(((((((((((((((((((@
x4

25



SOFA INSTALLATION



SOFA INSTALLATION

24




SOFA INSTALLATION




Tilting backrest and footrest

28



SAFELY OPERATING YOUR

ITO BED

Make sure that any and all items on shelf
are stable and secure at all times.

n Prior to opening bed, remove any items
taller than approx. 12.”

Remove back cushions.

To store the cushions or bedding under
seat, lift sofa seat from bottom front edge
for Swing.

If you have a coffee table, push table against
sofa. DO NOT STAND ON TABLE! If you cannot
reach shelf, move table aside.

OPENING YOUR SWING BED

Grasp the handle located in the middle
of the shelf and pull with one hand, while
supporting the top of the bed frame with
the other as you walk backwards, allowing
the bed frame to descend under control.

Make sure to support the bed frame with
both hands for the entire descent until the
shelf is firmly resting on the floor.

It may be necessary to gently push down
on the bed frame for the final few inches.

n Release the two mattress straps by
squeezing the center of the clasp.

Tuck the straps under the mattress.

H Sleep!

21



SAFELY OPERATING YOUR

ITO BED

Remove pillows and tuck bedding in on all
sides around mattress.

Close both mattress straps around the
bedding.

H Stand in the middle of the bed, grasp
front edge of bed frame and lift.

CLOSING YOUR SWING BED

Continue to lift bed frame as you walk
forward toward wall.

Push bed frame into structure until the
bed frame is completely vertical.

Replace cushions.

n To adjust the backrest of the Swing chaise,
pull forward on the upholstered shelf of the
chaise until you hear a “click”, then adjust to

the position of your choice.

To return the support, pull forward until you
hear the “click”, then push back to horizontal
position.

MODEL WITH CHAISE

E To pull out or push in the chaise on the
Swing, remove the back cushion first.
You can then easily extend or retract the
chaise without friction.

ADDITIONAL INFORMATION FOR THE SWING

NOTE: Your Swing is designed so that most bedding can remain on the bed when closed.
If you experience difficulty closing the bed, your bedding might be too thick.



Ang oorxey
JaAnoouUBA

AseBleny
03U040]

"0 ‘uoybuiysepm
00sI0UBI4 UBS

sa|abuy so7
YJOA MEN

ResourceFurniture.com



	Blank Page
	Blank Page
	Blank Page
	Blank Page



